

Multiply by 10^{-1} (A)

Find each product.

$19 \times 10^{-1} =$

$69 \times 10^{-1} =$

$88 \times 10^{-1} =$

$13 \times 10^{-1} =$

$19 \times 10^{-1} =$

$75 \times 10^{-1} =$

$63 \times 10^{-1} =$

$44 \times 10^{-1} =$

$69 \times 10^{-1} =$

$21 \times 10^{-1} =$

$1 \times 10^{-1} =$

$77 \times 10^{-1} =$

$95 \times 10^{-1} =$

$81 \times 10^{-1} =$

$70 \times 10^{-1} =$

$54 \times 10^{-1} =$

$34 \times 10^{-1} =$

$39 \times 10^{-1} =$

$33 \times 10^{-1} =$

$23 \times 10^{-1} =$